Find The Q|CICG of The underined
dgit:

| 8947473

2345492
3.908,289
4 239229

Mutiplicartion Comparisons:
IT takes Tom eighteen oranges o
mMcke alarge giass of orange juice
and nine For a smal glass. He uses
how many Times as many oronges
for alarge gloss as he does a smdl
gass?
MUl
(Use any method you waont)
e e

X 56

Adartion:
| 987,789
+2/3048

SupTracTion
| 908408
-345090

MUT-STep Word Problenm:

AT apotato chip fFactory there
were 92 machines working with each
machine dole To produce 56 chips a
minute. IF This is enough potato chips
T0 fil 2 shipping boxes, how Mmany
chips are there per box?

Find The vdiue of The underined
dgit:

| 345023
2.721092
3.901893
4. 342908

Round the number To the nearest
underined digit:

| 123899
2.847909

Divide:
(Use any method you waont)

| 127/8

2. 9/83/6

Find The first 6 muitiples of
20

12

Find The factors of:

20

2
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